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20. Explain the features of a Good Questionnaire.
2303 TTHYTVED MV £OTR), ROX.

21.

22.

Government has spent it different sectors for the yea

below. Show this through Pie diagram.

352G 2022 — 238 O, s F FBATO3 &

AT T A 0

r 2022 — 23 as shown

o3 §63,TOR 3, TnAT. BB

%, SO FWoRLT 3RedN.
Sectors Agriculture | Irrigation Industry Electricity | Transport
Soed ITmad | DS Lolel LSRR otk
S:s"e“d"‘"e 550 450 900 600 1100
3

Explain the merits and demerits of the study of statistics.
RO, TR, e533, 03033 BRI T STOBRUZNISY, WTOA.
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DSC 4.2 : Statistics for Economics

Time : 2% Hours © . Max. Marks : 60

Instructions : a) Answer must be written completely in Kannada or English.
b) Answer of Part — A should be continuous.
c¢) Answer should be precise.

PART — A (Conceptual) -
Jon - a(ﬂaﬁvmé#)

Answer any ten of the following questlons in 2-3 sentences Each questlon
carries 2 marks. ~ (10x2=20)

NS CIRRTITTR BB BITVR 2-3 08,19, cvBO. B3 BT 2 LOFNLD.

1.

What is Time Series Data ?
O 3,63 TIY0Z D0TTED ?

. Give the meaning of Quantitative Cla55|f|cat|on

BORRFZE SNECFTEAT tazsr QeB.

Mention various types of correlation.
owoz;Sr:S DG ANV, BIOX.

Calculate the Arithmetic Mean

1633 FooROODRY BORBRBAD.
5, 8, 10, 15, 24, 28. L - SO

What is meant by Measures of Dispersion ? |
OTITLIT BRTINK Q0TI ?

What is Questionnaire ?

B, a'am aodde;b ?

What is meant by nge Curve ?
Aoz 3 T8, Q0TIED 7

P.T.O.
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8. Obtain the value of Median from the following.
FONT T2 0536 RO, 03T, FORILRWD.

273, 115, 83, 415, 31.

9. What is a simple bar diagram ?
RO T023 233, 0WBe0 ?

10. Identify the mode from the below given grouped data.
NI JNF 3T TI0BBO WROVT TSR,

Value/ =500, 10 12 15 25 30 60 (- §
Frequency/ <33 5 15 20 40 10 8

11. Give the meaning of Range.
QT (mée_..;)odo BT AR,

12. What is meant by Rggressmn ?
aoowoa?/ S 8@&:‘1 2

PART — B (Analytical)
o - W (D ca:m%#)

Answer any four questions of the following in 15-20 sentences. Each question

7 S

carries 5 marks. (4x5520) S
FPNS SN ETR aau%a_j,z? nion 15-20 =o3,n$d, VIO, [,3 ﬁ_ﬁ;ﬁ 5 wosned.

13. The following table glves the import figures of a Motor Car manufacturing
company. Hepresent the data by a suitable simple bar diagram. -
B3 TENT T3 E30 20T S3RCERT* TOTF BoTVOD SR 2e0R3T. B4 *woz’oocoai
e:owoasm*& R0 Foyd 233,13 SAVT E0edA.

Years/Sxke | 2017 2018 2019 2020 | 2021 : 2022
Imports/&s=oz>| 2000 2500 2800 3500 4000 3000

- 14. What is statistics ? Write a short note on scope of statistics.
RO3TD, TR, DOTTED ? WO &, & BOOBS E3Ted 2L80M0.
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15. Calculate the Range and Co-efficient of Range.
T, & TR 59,03 THEV0T F0RRAWD.

Daily Expenditure (in Rs.) | Number of families
ORT edr (Be.) BoLOWNY m:.st
10 -20 5
20 - 30 8
30 - 40 12
40 - 50 17
50 — 60 10
60 —-70 6

16. What is sampling ? Explain its merits.
IR NOTTER 7 BTT OVOTRVINTIY QSOR.

17. Compute 3 years moving average for the following data.
97 REBINTO TOBROT WD IRFT WO FTIHO FRBACD.
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;‘::; 2011120122013 |2014]2015| 2016 | 2017|2018 | 2019 | 2020
Sale (in tons)
SR 10 12 9 14 16 20 18 | 15 | 10 8
(' 19Q)
18. Bring out the distinction between primary and secondary data.
T, FR0 3 B30 BIOBW IO F,T, TSI, SVA.
PART - C (Descriptive)
RN - A (DFT™IE)
Answer any two questions. Each question carries 10 marks. (10x2=20)
BINS O3RPTOWTR QTE @’)gﬂvﬁ wo3ox. B3 [ 31 10 308N,
19. Find the Mean and Median from the following data.
9N B3 0BT WNRWT JTORO RO mmsoiasagl FoRIGAOND.
Income (Rs.) 80 . 5 Bs 66
e (85.) 61 62 63 6
Families o7 210 128 98
Dioned 146 435 | 398
;,_,r:-ub'
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